
fPNo jug;gl;Ls;s jpzpTfisf; $l;Lf.  

01. I. 

Kg g

5 450

2 650
         II.   

Kg g

10 700

3 600
   III.  

Kg g

15 700

6 450
  IV

Kg g

30 480

10 600
 

 V. 5kg  750g + 10kg + 300g = ___________________________ 

02. fPNo jug;gl;Ls;s jpzpTfisf; fopf;f.  

 I.  

Kg g

10 500

6 400
             II. 

Kg g

8 450

3 600
  III.   

Kg g

20 480

10 760
  

 IV. 4kg 50g – 1kg 500g = __________________________ 

 V. fkhy; 2kg rPdpAk;> 750g  gUg;Gk;> 250g NjapiyAk; 5kg muprpAk; thq;fpdhy; nkhj;jj; 

  jpzpT ahJ? _____________________________________________________________ 

03. gpd;tUk; jpzpTfisg; ngUf;Ff.  

 I. 

Kg g

5 400

x 5
  II. 

Kg g

3 350

x 7
  III.  

Kg g

6 280

x 8
 

 IV. 10kg 300g x 9 = __________________  

 V. xU muprp %l;ilapd; jpzpT 25kg 500g MFk;. mt;thwhd 5 %ilfspd; jpzpT ahJ? 

  ________________________________________________________________________________ 

04. gpd;tUk; jpzpTfisr; RUf;Ff.  

 I. 
Kg g

5 6 750
  II. 

Kg g

8 8 840
      III. 

Kg g

6 15 660
   IV.  

Kg g

7 25 200
 


